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405 TH&HF St 10,800 8,000 2,800
01 AU 2B St 10,800 8,000 2,800
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B2 AIIEE 971,180 731,273 239,907
101 @121l 870,180 630,273 239,907
04JIAH22RSES 847,980 608,073 239,907
OS08= UM 2RY 68,7202 +10% #2102 144,312 0 144,312
OJNAH22R 402 E 15,466 0 15,466
200013 144,312, 0009 *4.5% 6,495 0 6,495
AU 144,312,0002 *3.335% 4,813 0 4,813
coRy 4,813,0002 *10.25% 494 0 494
nges 144,312,002 *1.65% 2,382 0 2,382
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T 2 0f 2t 8,500%! *1.5+642 * 13AI 2t 10,721 0 10,721
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AR JlERea 10,000 0 10,000
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o1 0F 2 AHHI (5Y) 1,980 0 1,980
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=3} 10,0003 x50 1001 & 5,000 0 5,000
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307 21201 & 45,485 248,393 A 202,908
05 RIZteE = 45,485 248,393 A 202,908
OXNESAEH 2gH X 45,485 248,393 A202,908
el At (1~38) 33,046 174,133 A 141,087
Ar22eldl (1~34) 7,271 30,780 223,509
=324 (1~3€) 2,313 17,000 A 14,687
2ol (1~32) 134 4,000 A 3,866
AP HH(1-32) 1,197 8,000 26,803
HEHl(1~38) 1,524 5,000 A 3,476
AL HI 24 Z(1~3 ) 0 9,480 A 9,480
405 XtAtE SHI 8,750 0 8,750
01 AR ESFH S 8,750 0 8,750
OAMEA SAI 7€ 5,500 0 5,500
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H2SANH 29 122,736 122,736 0
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= 29,067 29,067 0
=) 11,627 11,627 0
Al 17,440 17,440 0
101 14l 46,271 0 46,271
= 23,135 0 23,135
=) 9,253 0 9,253
Al 13,883 0 13,883
04 JIZtHZ22HEE+ 46,271 0 46,271
OZCIUlole erAadl 1,845,310 1000 & »2H 36,907 0 36,907
= 18,453 0 18,453
< 7,381 0 7,381
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ORCIUIOIE SN2 2,781,860% *2% 5,564 0 5,564
= 2,782 0 2,782
< 1,112 0 1,112
Al 1,670 0 1,670
307 212+0| & 11,863 58,134 £ 46,271
2 5,932 29,067 £23,135
= 2,374 11,627 19,253
Al 3,557 17,440 ~13,883
05 BRIt 2 11,863 58,134 £ 46,271
OXEZAR 2CIUI0IE X2 11,863 58,134 £46,271
= 5,932 29,067 £23,135
< 2,374 11,627 £9,253
Al 3,557 17,440 £13,883
M= S8 NASAMEE Y HUIA X 6,002 6,002 0
= 3,001 3,001 0
< 1,200 1,200 0
Al 1,801 1,801 0
201 et 2 | 6,002 0 6,002
= 3,001 0 3,001
< 1,200 0 1,200
Al 1,801 0 1,801
02 ZZ 2l 6,002 0 6,002
OREZAR 282 X 6,002 0 6,002
= 3,001 0 3,001
< 1,200 0 1,200
Al 1,801 0 1,801
307 212+0| & 0 6,002 6,002
2 0 3,001 ~3,001
< 0 1,200 A1,200
Al 0 1,801 A1,801
05 B9t 2 0 6,002 6,002
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e =A 28 N (2X) 58,600 58,600 0
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< 4,314 0 4,314
Al 7,916 0 7,916
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< 3,564 0 3,564
Al 6,166 0 6,166
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Al 1,750 0 1,750
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307 21240 20,825 58,600 A37,775
= 6,248 17,580 A11,332
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= 3,750 0 3,750
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< 1,418 15,000 A13,582
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Al 0 3,500 ~3,500
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WS AL (HEX D) 86,918,414 86,258,495 659,919
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Al 86,648, 148 85,988,229 659,919
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101 @124 67,367,058 66,707, 139 659,919
= 215,689 215,689 0
Al 67,151,369 66,491,450 659,919
03 PIHA22RE S 7,113,310 6,453,391 659,919
OBFRE S(53) 230,566 0 230,566
ez 24,793,080 *52 123,966 0 123,966
a4y 2,066,0808! +5% 10,331 0 10,331
HaLgoaa 1,560,000 *5& 7,800 0 7,800
3o Z Al 1,560,000 *5& 7,800 0 7,800
=Rl 2,479,300 +5¢ 12,397 0 12,397
ANelag 1,200,000 *2& 2,400 0 2,400
BENSLY(UE) 1,440,000 +5% 7,200 0 7,200
HErg 8,880 0 8,880
-H§ 2 X 40,0002 *5 + 122 2,400 0 2,400
L 20,0009 *4% + 122 960 0 960
-E T 60,0002 *4% « 122 2,880 0 2,880
NS 100, 0008 124 » 12 1,200 0 1,200
-22 S 20,0009 6% + 122 1,440 0 1,440
ANZrel 2@ ag
18,2162 128 *15A1 2t + 12 39,347 0 39,347
RSELLE 145,728 x5« 12 729 0 729
o102 &bl 97, 1529 %58 %20 9,716 0 9,716
OFIRSEH(4Y) 128,183 0 128,183
123 2,022,250 x4% +82 64,712 0 64,712
a4+ 1,011, 12091 x4 4,045 0 4,045
H2LgYIa 80,0009 *4% 8 2,560 0 2,560
o gAY 130,000 <42 82 4,160 0 4,160
o = F 0| 1,213,350 x4 4,854 0 4,854
BRELLY(SS) 100,008 4% 8 3,200 0 3,200
Erg 3,040 0 3,040
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- 60,0009 *2% 8 960 0 960
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-22 S 20,0009 *2% 8 320 0 320
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